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Sociology 
Industrial Sociology
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 Instructions :	1)	 A single answer booklet containing 40 pages will be 
issued. 

      ÓÜãaÜ®æWÜÙÜá :		  40 ±ÜâoWÜÙÜ Jí¨Üá EñÜ¤ÃÜ ±Ü£ÅPæ¿á®Üá° ¯àvÜÇÝWÜáÊÜâ¨Üá.

	 2)	 No additional sheets will be issued.	
		  Öæbc®Ü ÖÝÙæWÜÙÜ®Üá°  ¯àvÜÇÝWÜáÊÜâ©ÆÉ.

	 3)	 Answer all Sections.

		  GÇÝÉ  Ë»ÝWÜWÜÚWÜã EñÜ¤ÄÔÄ.

SECTION – A
Ë»ÝWÜ – G

Answer any five questions in 7-8 sentences each.	 (4×5=20)
¿ÞÊÜâ¨Ý¨ÜÃÜã I¨Üá ±ÜÅÍæ°WÜÚWæ ñÜÇÝ 7-8 ÊÝPÜÂWÜÙÜÈÉ  EñÜ¤ÄÔÄ.

1.	 Mention any four importance of industrial sociology.

	 PæçWÝÄPÝ ÓÜÊÜÞgÍÝÓÜ÷ ¨Ü ¿ÞÊÜâ¨Ý¨ÜÃÜã ®ÝÆáR ±ÝÅÊÜááSÂñæ¿á®Üá° £ÚÔÄ.

2.	 Explain the types of guilds.

	 ÊÜê£¤ ÓÜíZWÜÙÜ Ë«ÜWÜÙÜ®Üá° ËÊÜÄÔÄ.

3.	 Point out any two features of bureaucracy.

	 ®èPÜÃÜÍÝ×¿á ¿ÞÊÜâ¨Ý¨ÜÃÜã GÃÜvÜá ÆPÜÒ|WÜÙÜ®Üá°  ÓÜãbÔÄ.

4.	 Mention any two problems of blue collar workers.

	 ¯àÈ PæãÃÜÙÜá ±Üqr PÝËáìPÜÃÜ ¿ÞÊÜâ¨Ý¨ÜÃÜã GÃÜvÜá ÓÜÊÜáÓæÂWÜÙÜ®Üá° £ÚÔÄ.
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5.	 What is “surplus value” ?

	 "ËáWÜáñæ ÊÜåèÆÂ' Gí¨ÜÃæà®Üá ?

6.	 Explain the problem of absenteeism in industries.

	 PæçWÝÄPæWÜÙÜÈÉ  WæçÃÜáÖÝgÃÝWÜáËPæ ÓÜÊÜáÓæÂ¿á®Üá°  ËÊÜÄÔÄ.

7.	 State any two advantages of industrialization.

	 PæçWÝÄQàPÜÃÜ|¨Ü ¿ÞÊÜâ¨Ý¨ÜÃÜã GÃÜvÜá E±ÜÁãàWÜWÜÙÜ®Üá°  £ÚÔÄ.

SECTION – B
Ë»ÝWÜ – ¹

Answer any five questions in 12-15 sentences each.	 (8×5=40)
¿ÞÊÜâ¨Ý¨ÜÃÜã I¨Üá ±ÜÅÍæ°WÜÚWæ ñÜÇÝ 12-15 ÊÝPÜÂWÜÙÜÈÉ  EñÜ¤ÄÔÄ.

8.	 Describe the scope of industrial sociology.

	 PæçWÝÄPÝ ÓÜÊÜÞgÍÝÓÜ÷¨Ü ÊÝÂ²¤¿á®Üá° ËÊÜÄÔÄ.

9.	 Explain the development of industries in India.

	 »ÝÃÜñÜ¨ÜÈÉ  PæçWÝÄPæWÜÙÜ A¼ÊÜê©œ¿á®Üá°  ËÊÜÄÔÄ.

10.	 Explain the role of corporates in the development of industries.

	 PæçWÝÄPæWÜÙÜ A¼ÊÜê©œ¿áÈÉ PÝ±æäàìÃæàp…WÜÙÜ ±ÝñÜÅÊÜ®Üá°  ËÊÜÄÔÄ.

11.	 Explain the concept of alienation in relation to work.

	 ¨ÜáwÊæáWæ ÓÜíŸí—Ô¨Üíñæ ±ÜÃÜQà¿á »ÝÊÜ®æ¿á ±ÜÄPÜÆ³®æ¿á®Üá° ËÊÜÄÔÄ.

12.	 Discuss the functions of Trade Union in India.

	 »ÝÃÜñÜ¨ÜÈÉ®Ü PæçWÝÄPÝ ÓÜíZo®æWÜÙÜ PÝÃÜÂWÜÙÜ®Üá°  aÜbìÔÄ.

13.	 Write a note on labour legislations.

	 PÝËáìPÜ ÍÝÓÜ®ÜWÜÙÜ PÜáÄñÜá q±Ü³~ ŸÃæÀáÄ.

14.	 Explain ‘industry as an agent of development’.

	 "PæçWÝÄPæ¿áá A¼ÊÜê©œ¿á Jí¨Üá ¯ÁãàX' GíŸá¨Ü®Üá°  ËÊÜÄÔÄ.
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SECTION – C
Ë»ÝWÜ – Ô

Answer any four questions in 20-25 sentences each.	 (15×4=60)
¿ÞÊÜâ¨Ý¨ÜÃÜã ®ÝÆáR ±ÜÅÍæ°WÜÚWæ ñÜÇÝ 20-25 ÊÝPÜÂWÜÙÜÈÉ  EñÜ¤ÄÔÄ.

15.	 Explain the rise of industrial sociology.

	 PæçWÝÄPÝ ÓÜÊÜÞgÍÝÓÜ÷¨Ü EWÜÊÜáÊÜ®Üá°  ËÊÜÄÔÄ.

16.	 Describe the role of MNCs in the development of industries in India.

	 »ÝÃÜñÜ¨ÜÈÉ®Ü PæçWÝÄPæWÜÙÜ A¼ÊÜê©œ¿áÈÉ  ŸÖÜáÃÝÑóà¿á PÜí±Ü¯WÜÙÜ ±ÝñÜÅÊÜ®Üá°  ËÊÜÄÔÄ.

17.	 Explain the importance of work in industries.

	 PæçWÝÄPæWÜÙÜÈÉ  ¨ÜáwÊæá¿á ÊÜáÖÜñÜÌÊÜ®Üá°  ËÊÜÄÔÄ.

18.	 Discuss the problems of Trade Union in India.

	 »ÝÃÜñÜ¨ÜÈÉ®Ü PÝËáìPÜ ÓÜíZo®æWÜÙÜ ÓÜÊÜáÓæÂ¿á®Üá°  aÜbìÔÄ.

19.	 Analyse the impact of industrialization on caste and religion.

	 hÝ£ ÊÜáñÜá¤ ÊÜáñÜ«ÜÊÜáì¨Ü  ÊæáàÇæ PæçWÝÄQàPÜÃÜ|¨Ü ±ÜÄOÝÊÜáÊÜ®Üá°  ËÍæÉàÑÔÄ.

20.	 Explain the limitations of industrialization.

	 PæçWÝÄQàPÜÃÜ|¨Ü C£Ëá£WÜÙÜ®Üá°  ËÊÜÄÔÄ.

	 _________________________
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